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THREE DIMENSIONAL GEOMETRY

1. The xy-plane divides the line joining the points

(—1,3,4) and (2, — 5, 6).

A.internally in the ratio 2:3

B. externally in the ratio 2:3


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_lkZNDkVWiS2o

C. internally in the ratio 3:2

D. externally in the ratio 3:2

Answer: B

o Watch Video Solution

T

2.If a line makes angle 3 and % with x-axis and y-axis

respectively then the angle made by the line with z-axis,

is
AL
2
B. —
3
el
4


https://dl.doubtnut.com/l/_lkZNDkVWiS2o
https://dl.doubtnut.com/l/_ylrUbUFNSq1W

D.
12

Answer: B

o Watch Video Solution

3.1f A(3,2,0),B (5,3,2) and C (-9, 6, -3 ) are three points
forming a triangle and AD is bisector of Z/BAC, then AD

meets BC at the point

57 17
A. (19,8,1—6,1—6>
(19 57 17
' 8’16’ 16
19 57
C. <?, o 17, 16)

D. none of these



https://dl.doubtnut.com/l/_ylrUbUFNSq1W
https://dl.doubtnut.com/l/_RqeaPkBGvs6g

Answer: A

o View Text Solution

4.In AABC the mid points of the sides AB, BC and CA

are (I,0,0), (0, m,0) and (0,0, n) respectively. Then,
AB? + BC? + CA?

2 4+ m? + n?

is equal to

A2

B.4

C.8

D. 16

Answer: C



https://dl.doubtnut.com/l/_RqeaPkBGvs6g
https://dl.doubtnut.com/l/_51yG53z4qW8d

l o Watch Video Solution

5. If P(z,y, z) is a point on the line segment joining

—>

Q(2,2,4) and R(3, 5, 6) such that the projection of OP
13 19 26 : -

on the axes are 0 E0E respectively, then P divides

QR in the ratio:

Al:2

B.3:2

C.2:3

D.1:3

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_51yG53z4qW8d
https://dl.doubtnut.com/l/_LAP2ioheyLFl

6. The projections of a directed line segment on the
coordinate axes are 12,4,3. The direction cosines of the

line are

12 4 3
A3 T 13013
12 4 3
T T BB
12 4 3
“ 1313 13

D. none of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_LAP2ioheyLFl
https://dl.doubtnut.com/l/_n9jEARHAKBIc

7. If
r—1 y+1 z—1

2 3 4

intersect, then k is equal to

A 9
2
B. 10

C.1

12

11

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_bvYQMVws6kQj

8. The foot of perpendicular from (0,2,3) to the line

z+3 y—1 z—|—4is
5 a 2 3

A(—234)
B.(2, —1,3)
C.(2,3, —1)

D.(3,2, — 1)

Answer: C

o View Text Solution

9. Perpenficular distance of the point (1, 2, 3) from

z—6 y—17 z—T7.
= = is

the li
eline — 5 —


https://dl.doubtnut.com/l/_WeWehf6xiS3G
https://dl.doubtnut.com/l/_k90fZN3mFBxC

A7

B.5

C.8

D.O

Answer: A

o Watch Video Solution

10. Find the length of the perpendicular drawn from

. . 4d—z Y 1—2
t(2,3,4) tol = Z = :
point (2, 3, 4) to line 5 5 3

3

A 7\/101
2

B. 71/101


https://dl.doubtnut.com/l/_k90fZN3mFBxC
https://dl.doubtnut.com/l/_Yie6acqIUdly

2
c. =1
— /103

3
D. = /1
- /103

Answer: A

o Watch Video Solution

M. Find the angle between the lines
w—2_y—|—1_ _ dw—1_2y—|—3_z—i—5
I e T
A /2

B.m/3

C.mw/6

D. none of these


https://dl.doubtnut.com/l/_Yie6acqIUdly
https://dl.doubtnut.com/l/_FmACywAdWN4m

Answer: A

o Watch Video Solution

12. The angle between the diagonal of a cube and an

edge of the cube intersecting the diagonal, is

A. cos ! l
' 3
2
B.cos ‘[ 4/—=
COS ( 3)

C.tan™ ' (1/2)

D. none of these

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_FmACywAdWN4m
https://dl.doubtnut.com/l/_5LHDaaeofpC6

13. The angle between the lines whose direction cosines

aregivenbyl+m +n =0and > + m*> —n? = 0is

D[ w3 [ oy

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_5LHDaaeofpC6
https://dl.doubtnut.com/l/_n2FtgqcP7HDv

14. The angle between the lines whose direction cosines

(I,m, n) satisfy the equations | + m+n =0 and 2Im + 2In -

mn =0, is

A.60°

B.90°

C.110°

D.120°

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_K08Dsyl3kPcI

15. Find the shortest distance

r+1 y+1 2z+1 q
7 —6 1
z—3 Yy—95 z—17

1 —2 1

A. /29 units

B. 29 units

c 29 "
. units

D. 24/29 units

Answer: D

between the

lines

o Watch Video Solution



https://dl.doubtnut.com/l/_SpwQFvXHF1GG

16. If a plane meets the coordinate axes in A, B, C and
(o, B, 7y) is the centroid of A ABC. Then, the equation

of the plane is

x Y z
A + =1
3a 38 3y
3x 3y 3z
B + + =1
a B v

Car+PBy+vz=1

D. none of these

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_SsiZ1IUjOaqI

17. If the plane % + % + % = 1 cuts the coordinates

axes at points AB and C. Then, find the area of A ABC.

A. /18 sq units
B.30 sq units

C.3V/14 sq units

D. 13v/14 sq units

Answer: C

o Watch Video Solution

18. Prove that the distance of the points of intersection

z — 2 y+1 z—2
s = 1 T 1 and the plane

of the line


https://dl.doubtnut.com/l/_AlX8DFxaMeEO
https://dl.doubtnut.com/l/_FhuqHrVImadR

z —y+ z = bfrom the point ( — 1, — 5. — 10) is 13.

A.10
B. 11
C.12

D.13

Answer: D

o Watch Video Solution

19. The intercepts made on the axes by the plane the

which bisects the line joining the points (1,2, 3) and


https://dl.doubtnut.com/l/_FhuqHrVImadR
https://dl.doubtnut.com/l/_zjcYiDQ7grcZ

9
(—3,4,5) at right angles are a. (— —, 9, 9) b.

2,
27 ) C. ) 27 . a27 ’

Answer: A

° Watch Video Solution

20. A line with positive direction cosines passes through

the point P (2, - 1,2) and makes equal angles with the


https://dl.doubtnut.com/l/_zjcYiDQ7grcZ
https://dl.doubtnut.com/l/_e9hcw7pbs9ZB

coordinate axes. The line meet the plane 2x +y+z =9 at

point Q. The length of the line segment PQ equals
A.\/5
B. 34/2
C.v/3
D. /7

Answer: C

o View Text Solution

o . oz +1 Y z—1
21. The projection of the line — =3 =3 on

the plane £ — 2y + 2z = 6 is the line of intersection of


https://dl.doubtnut.com/l/_e9hcw7pbs9ZB
https://dl.doubtnut.com/l/_pbUnJ6Da4Q9T

this plane with the plane a. 2z +y+2=0 b.

3z +y—2=2c.2z — 3y + 8z = 3 d.none of these

A2 +y+2=0

B.3z +y+ 2z =20

C.2x + 3y + 82 =13

D.6x —y — 2z = 12

Answer: A

o Watch Video Solution

22. The equation of the plane containing the line

+ 1 -3 + 2
m_g = yz = zl and the point (0,7,-7), is



https://dl.doubtnut.com/l/_pbUnJ6Da4Q9T
https://dl.doubtnut.com/l/_hp8RnEXoU9vW

Ax+y+z=1

Bx+y+z2=2

CzH+y+z2=0

D. none of these

Answer: C

o View Text Solution

23.The equation of the plane through (3,1,-3) and (1,-2,2)

are parallel to the line with direction ratios 1,1,-2 is

Az —-—y+2+1=0

Bx+y—2+1=0


https://dl.doubtnut.com/l/_hp8RnEXoU9vW
https://dl.doubtnut.com/l/_53qtBLkZfxM6

Czx—y—2—1=0

Dz+y+2z—1=0

Answer: D

o Watch Video Solution

24. The equation of the plane through the line of
intersection of the planes x +y+z-1=0and 2x+y-3z +
2 =0 passing through the point (1,1,1), is

Az —42+3=0

B.x —y+2=1

CzH+y+z=3


https://dl.doubtnut.com/l/_53qtBLkZfxM6
https://dl.doubtnut.com/l/_qAVPUHx8YeUZ

D.2z —y+ 2z = 2

Answer: A

o View Text Solution

25. Find the coordinates of the point where the line
through (3, — 4, —5) and (2-3,1) crosses the plane
passing through the points (2,2,1),(3,0,1) and (4,-1,0).

A.(1,2,7)

B.(—1,2, —7)

C.(1, —2,7)

D. none of these


https://dl.doubtnut.com/l/_qAVPUHx8YeUZ
https://dl.doubtnut.com/l/_8BrXCeao7Up6

Answer: C

o Watch Video Solution

26. The plane passing through the point (-2, - 2, 2) and
containing the line joining the points (1, -1,2) and (1,1,1)
makes intercepts on the coordinate axes and the sum of
whose length is

A3

B.6

D. 20


https://dl.doubtnut.com/l/_8BrXCeao7Up6
https://dl.doubtnut.com/l/_QpLAzDn9nkEj

Answer: C

o View Text Solution

27. The equation of the plane passing through (2,1,5) and

parallel to the plane 3x-4y+5z=4 is

Adxr —4y+52—27=0

B.3z —4y+52+21 =0

C3x —4y+52+26=0

D.3z — 4y + 52+ 17 =0

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_QpLAzDn9nkEj
https://dl.doubtnut.com/l/_CIiIoWWg6JWY

28. The equation of the line passing through the point
(3,0, 1) and parallel to the planes x + 2y=0and 3y-z =0,

is

A. = =

—2 1 (3)
5 r—3 y—0 z—1
1 -2 3

-3 -0 -1
C.a3 :y :z

3 1 —2

D. none of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_CIiIoWWg6JWY
https://dl.doubtnut.com/l/_PlPCt41S9LPP

29. The equation of the plane which contains two

— 2
parallel lines x;_l _ Y 5 zé and
r—3 y+4 z-1

3 2 1 °

Adzr +2y+ z =10

B.8z +y —262+6=0

C.4z 4+ 6y + 2z = 50

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_lOdI5rPsQ2S1

30. If the planes
x—cy—bz=0,cx =y+ az =0andbx +ay—z2=0
pass through a straight line, then find the value of
a® + b + ¢ + 2abc

A2

B.3

C.O

D. 1

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_yeRlQ5M2PgOH

31. The equation of plane through the intersection of

the planes x + 2y +3z-4=0and 2x+y-z + 5 =0 and

perpendicular to the plane 5x + 3y + 6z = 8, is

A.5lz + 15y — 50z — 173 =0

B.51lz — 15y + 50z + 173 =0

C.51z + 15y — 50z + 173 = 0

D.5lz — 15y — 50z — 173 =0

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_IWLfzPGedKrJ

32. The equation of a line

dr —4y — 2+ 11 =0=x + 2y — 2z — 1 can be put as

E_y—2_z—3 (b) x—2_y;2_i
2 1 4 2 1 4
z—2 = J = 23 (d) None of these

2 1 4

T y— 2 z—3

AT T T 1
Bw—4_y—4_z—11

S22 1 5

T — 2 Y z+3

C T3 T35
Dac+2_y—|—2_z—1

-3 4 4
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_8mMovCVDRwy0

r — 2 —1 z+ 2
33. Let the line 3 = y_5 = 5 lies in the

plane z + 3y — az + 8 = 0.Then, (a, B) equals

A (6, —17)
B.(—6,7)
C. (5, — 15)

D.( — 5, 15)

Answer: B

o Watch Video Solution

34. The distance of the plane x 4+ 2y — 2z = 2 from the

point (2, — 1, 3), measured in the direction with the


https://dl.doubtnut.com/l/_oSvqH2v4J1BE
https://dl.doubtnut.com/l/_brIiZZRJdqqQ

direction ratios (2, 2,1) is

A2

D.3

Answer: D

o Watch Video Solution

35. A plane is such that the foot of perpendicular drawn
from the origin to it is (2, - 1,1). The distance of (1,2,3)

from the plane, is


https://dl.doubtnut.com/l/_brIiZZRJdqqQ
https://dl.doubtnut.com/l/_LN557zMT6O7n

A3/2

6.\ J372

C.2

D.O

Answer: B

o View Text Solution

36. Find the distance of the point(1, O, -3) from the plane

x—y—2=9 measured parallel to the line,

a:—2_y—i—2 z—6

2 3 —6

A.6


https://dl.doubtnut.com/l/_LN557zMT6O7n
https://dl.doubtnut.com/l/_hFqGuWDVCLSw

B.7

C.17

D. 26

Answer: B

o Watch Video Solution

37. Find the equation of the plane through the
intersection of the planes
x+3y+6=0and 3z —y— 4z =0, whose

perpendicular distance from the origin is unity.

Az +y—224+3=0,z—-2y—22—-3=20


https://dl.doubtnut.com/l/_hFqGuWDVCLSw
https://dl.doubtnut.com/l/_ZbPWzXAjPZOT

B.2r +y—224+3=0,z —2y—2z—-3=0

Cx—-—y+224+3=0xz+2y+224+3=0

D.2z —y+22—-3=0,z+2y+22+3=0

Answer: B

° Watch Video Solution

38. A plane L passes through the point (-1, - 2, - 1) and

normal to it is perpendicular to the lines

x+1 Y+ 2 z+1

3 — : — 5 and
T =Ty =3 The distance of the point (1,

1,1) from the plane L is

12
A ——

V75


https://dl.doubtnut.com/l/_ZbPWzXAjPZOT
https://dl.doubtnut.com/l/_x0LYCdgSPi9A

8 17
V75

13
C.——
V75

20
D. ——
V75

Answer: C

o View Text Solution

39. A plane passes through the point (1,-2,3) and is
parallel to the plane 2z — 2y + 2z = 0. The distance of
the point (-1,2,0) from the plane, is

A 2

B.3


https://dl.doubtnut.com/l/_x0LYCdgSPi9A
https://dl.doubtnut.com/l/_EyGoUpkvPAws

C.4

D.5

Answer: D

° Watch Video Solution

40. Distance between two parallel planes

2¢ +y+2z=8 and 4z + 2y + 42+ 5=20is

0 w

o
M| O NN oot | w


https://dl.doubtnut.com/l/_EyGoUpkvPAws
https://dl.doubtnut.com/l/_bA3mBho1ezX7

Answer: C

o Watch Video Solution

33—2_y—3_z—4 q
1 1 -
r—1 y—4 z-3

k 2 1

41. If the lines

are coplanar, then k can have

A. any value

B. exactly one value

C. exactly two values

D. ‘exactly three values

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_bA3mBho1ezX7
https://dl.doubtnut.com/l/_Eg3amtp60gFr

42.Find the coordinates of the foot of the perpendicular

drawn from  the  origin to the plane

2z Jy + 4z 6 = 0.
N
2 29" 29
e
"\ 19’ 297 29
C(12 18 24)
' 297 297 29
o (2,582
19’ 29’ 29
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Eg3amtp60gFr
https://dl.doubtnut.com/l/_ZLplE9jOZVoD

43. Find the image of the point (1, 3,4) in the plane

2¢c —y+2z+3=0.

A (3,5, —2)

Answer: B

o Watch Video Solution

44. Find the image of the point (1,6, 3) in the line
T y—1 z— 2

1 2 3



https://dl.doubtnut.com/l/_Y7DQMM5014lx
https://dl.doubtnut.com/l/_aOLley8hcMxd

A.(—1,0,7)
B.(—1,0, —7)
C.(1,0,7)

D.(2,0,7)

Answer: C

o Watch Video Solution

1 —3 _
45. The image of the line ? 5 = i _z-4 in

the plane 2z —y+4+2+4+3=0 is the Iline (1)
x+ 3 Yy—9 z— 2
3 1 = =5 2)
x+ 3 -5 z+ 2

472 (3)
-3 —1 5



https://dl.doubtnut.com/l/_aOLley8hcMxd
https://dl.doubtnut.com/l/_P32vMctxTY8j

z —3 Y+ 9o z— 2
— = (3)

3 1 —5
x —3 y+5 z— 2
—3 -1 5
A.:I:—3:y+5:z—2
-3 —1 5
Bac—|—3_y—5_z—2
-3 1 —5
Cac—|—3_y—5_z—|—2
- -3 —1 5
Da:—3_y—|—5_z—2
3 1 —5
Answer: B

o Watch Video Solution

46. The volume of the tetrahedron formed by coordinate

planes and 2x + 3y +z =6, is


https://dl.doubtnut.com/l/_P32vMctxTY8j
https://dl.doubtnut.com/l/_UXtwSd6DJ18q

A5

B.4

C.6

D.O

Answer: C

o View Text Solution

Bitsat Archives



https://dl.doubtnut.com/l/_UXtwSd6DJ18q
https://dl.doubtnut.com/l/_1dfA7tMEJLqS

lie in the same plane, then,

Q. The value of sin ™! sin X is equal to

A.3
B.m— 3
C.4
D.m—4
Answer: D

o Watch Video Solution

2. If the plane x + y+ z = 1 is rotated through 90°
about its line of intersection with the plane

x — 2y + 3z = 0, the new position of the plane is


https://dl.doubtnut.com/l/_1dfA7tMEJLqS
https://dl.doubtnut.com/l/_fG2hDbcBRaRa

Az —45y+ 4z =1

B.x —5y+4z= —1

Cx—8y+72=2

Dz —8y+72= —2

Answer: D

o Watch Video Solution

3. The distance of the point (1, - 5,9) from the plane x +y
+ z = 5 measured along a straight line x =y =z is 24/3k

then the value of k is

A5


https://dl.doubtnut.com/l/_fG2hDbcBRaRa
https://dl.doubtnut.com/l/_xIxpRe3WF7Dy

B.6
C. /3

D.4

Answer: A

o View Text Solution

4.The angle between the lines whose directionn cosines

aregivenby2l —m +2n =0,lm+mn+nl =0is

(s
A.E
s
B.Z
s
C'E


https://dl.doubtnut.com/l/_xIxpRe3WF7Dy
https://dl.doubtnut.com/l/_ns0oTEtK0jn9

Answer: D

o Watch Video Solution

5. Let L be the line of intersection of the planes
2c +3y+2z2=1and z + 3y + 2z = 2. If L makes an
angle a with the positive X=axis, then cos a equals

Al/2

B. 1

C.1/4/2

D.1/4/3


https://dl.doubtnut.com/l/_ns0oTEtK0jn9
https://dl.doubtnut.com/l/_SO5CJbCzu9QA

Answer: D

o Watch Video Solution

6. A plane passes through the point (1,-2,3) and is parallel
to the plane 22 — 2y 4+ z = 0. The distance of the point
(-1,2,0) from the plane, is

A2

B.3

C.4

D.5

Answer: D



https://dl.doubtnut.com/l/_SO5CJbCzu9QA
https://dl.doubtnut.com/l/_EZh4NhMhITHc

| €@ Watch Video Solution

zr:—2_y—|—1_z—1
3 2 -1

curve xy = 2 z2=0, ifcis equal to

7. The line intersects the

A =£1

B.+1/3

C.£.5

D. none

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_EZh4NhMhITHc
https://dl.doubtnut.com/l/_fN12zYQ0TCCG

8.The direction ratios of the line x-y+z-5=0=x-3y-6" are

A3, 1, —2
B.2, — 4,1

.3 1 -2
V14 14 V14

2 —4 1

D. : :
VAL V41 V41

Answer: A

o Watch Video Solution

9.The intercepts of the plane 2z — 3y + 42 = 12 on the

coordinate axes are given by


https://dl.doubtnut.com/l/_mxWIYKZpaI8g
https://dl.doubtnut.com/l/_wpdxl1AFH7Ec

A3, —2 15

B.6, — 4,3

c.6, —4, —3

D.2, — 3,4
Answer: B

o Watch Video Solution

10. The point of intersection

w—l_y—|—2_z—3 q
3 4 2 an

2r —y+ 3z —1=0,is

A. (10, — 10, 3)

of

the

the

line

plane


https://dl.doubtnut.com/l/_wpdxl1AFH7Ec
https://dl.doubtnut.com/l/_bR5l2Tj7sfgM

B. (10, 10, 13)
c.( — 10, 10, 3)

D. none of these

Answer: B

o Watch Video Solution

11. The equation of plane passing through a point A(2, -1,

3) and parallel to the vectors a=(3,0,-1) and b = (-3, 2, 2)

is

A2r —3y+62—25=0

B.2z — 3y + 62+ 25 =0


https://dl.doubtnut.com/l/_bR5l2Tj7sfgM
https://dl.doubtnut.com/l/_x9G1nxhkdoh9

C.bx — 2y +62—25 =0

D.3z — 2y + 6z + 25 = 0

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_x9G1nxhkdoh9

